ooz
HEFEZA%

B HFEEELR



U BRTHEZAR

Loney: Plane Trigonometry



BRI =A% AFRE
ARBLVSTHSAE, KRAW=ALE
- R, BB E A IRA GRS ANSAE
B ESRESR . SAFBRYS, BR=RAEERE
Eammimmm(mﬁw&mﬂwﬁmﬂama
Fiiea s REE ),

ERKAPE=A&
® % ®mE
L

* BB A,

¥OoE K F OB OKR
IR THER BRI TEATATY
LW AR5 B
L EEBTAE R
LYY
ERDRBE DR
J:ﬁl!ulﬁszs#u-gg

VRELAK—E— R —RAR
1954 4111 SB—PK— S8 N X B B
ERg4: 20001—2100074 BEA: T6IR1067 ey -
EPdE: 11 120 % 250y

BB 8,300 5T

P
i
P



_— (e ca

J& ¥

FEMUABBRYSFABENBZERRA B L~
RBERAEARGES WA RURBRZENRAD
HEEERGARETHIRDD LB ERA RS TREZ
— 3% 18 T B R T 3R |
SARAAESZARURES AR ZE R BREY
M—REARRPXEREZES AR L LB EER R
P AR B R S D R B — BT e A 2 0 B
18 F R 6.2 78 0B Bh i 0 ok B M i
RBZHRBRBREZNB=ALEH/HRT

X Ei Bw 2 A A BB & T .
F B8 S. L. Loney.
B WX ¥ S

ATREBRSEEEFREDN AR REE TS RS
HBREZRR
BB R B BT S IO, L LA R R
.....ﬁ,
iR F B
AEFEERORXAGEMN IO ERERZ R
H3f im A 908 EE Bk — &



FE=ZM[EX

X B =2mnr. (8 12)
| 355

ar=3.14159 00 . [ﬁ’] ﬁ% Ez 1la] (§ 13)
— B =57"17'44.8" (;;q) , (§ 16)
= i f5=180"=2007=7 %% (§19)

fi= g X 3. (21

I sm’B-{-cos"B 1, ‘

sec’g=1+4tan’4;

_cosec? @ =1-+cot? g. (8 27)
IIL §in0°=0;  cos0°=1. (§ 36)
sin 30° __; cos30°=Y3 V3, (5 34)

45°=cos4b°= ——_ 33
sin ) 7 (§33)
sin 60°=Y3; cos60°= L. (§ 35)

) 3

sin 90°=1; cos 90° =0 (§ 37)
sin 15°= 3/%_1.- cos 15°= *ﬁ ?;/*; +1 (5 106)

sin18°=i5;-—1; cos 36°= \/5“. (§ 120, 121)

IV. sin(—@)=-—sing; cos(— @) = cos §- (§ 68)
' sin(90°— @) =cos @; cos (90°— g) =sin G. (§ 69



viii ®r W = A &

8in (90°+6) =cosf ; 08 (90°4 @) = —sin 0.

sin (180°— @) =sin G; cos (180°—- @)= —cos 4.

sin (180°4-@) = —sin i  cos (180’4 4) = — cos 4.
V. F sinf=sina, §f =nw+(—1)"a

F cosf=cosa, ] 0=2n7+a.
F# tanf=tanea, ] §=nw-ta.

V1. sin (A4 B) =sin A4 cos B4 cos A sin B.
co8 (A+B) =cos A cos.B—sin 4 sin B.
sin (4 — B)y=sin 4 cos B—cos 4 sin B.
cos8 (A — B) =cos .4 cos B+sin A4 sin B.

sin C4sin D=2 sin 0-;1) cosC’;D
Cc+D . C-D
2

sin
2

cos C'4cos D=2 cos O;D cos C;D

cosC—cos D= 2sm0—§D 1nD20

2 sin 4 cos B =sin (44 B) +sin (4 - B).
2 cos A sin B =sin (44 B) —sin (4— B).
2 cos A cos B =cos (A+ B)+cos (4 — B).
2 sin A4 sin 5 =cos (4 — B) —cos (4 + B).

_. tan A4tan B
ta.n(A+B)— l1—tanA tan B

tan A —tan B
A
tan( B)= 1+4tan A4 tan B

sin 2.4 =2 sin A4 cos A4.

i
sin 0 —sin D=2 cos

cos24=cos® A—5sin? 4=1—2sin? 4=2cos? 4 —1.

2tan 4 1—tan3 4
A ="""2+ H =
sin T4 tent 4’ cos 24 Tqten? 4

(§70)
(§72)
(§73)
(§82)
(§83)
(§84)

- (§88)

(§90)

(8§94

(§97)

(§ 98)

(8 105)
(§ 109)
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ix

2 tan A
1—tan® 4
sin3A4=3sin A4 —4sind3 4.
cos 3.A =4 cos® 4—3cos 4.

3tanA—tand4
1—-3tan? 4

tan2A4 =

tan34=

A ‘/_l—cosA. A4 ‘/l+cosA
s1n—2-—:t —g cos~2—-—:i: —

2sin12‘1~=:!:\/l+sihflj:\/1 —sin 4.

2 cos —g;= +414-sin AT 4/1 5in 4.

tan (A1+_A,2+ ------ +A.) — sl 33+85'— (TH ou'
_82+-34 con
VIL log, (mm) = log, m 4-1og,n.

log, (%) =log, m —log,n.

log, m®=n log, m.

log,m =log,mx log, b,
VIIL . sind _sinB__sinC

tané M{_C)- sse soe
g N s{(s—a)

sin .A bi\/s(s —'a) (8 b) (.S‘ C).oo..ou

(§ 105)

(§ 107)

(§ 110)

(§ 113)

(§ 125)

(§ 136)
(§ 147)

(§ 163)
(8 164)
(§165)
(3 166)
(§ 167)

(§ 169)



T "B = £

a=>bcos C4c cos B, veres (§170)

tan32 ¢ 24— cot 124"""' | . § 17
S=4/s(s—a)(s~ b)(s—c)

?bcsm 4-——%—cas1nB—-%—absm(" {§ 198)

iX. R= % b __ ¢ _dbc 00,201

r:is'__:f’s—ai tan fé_-ocon-:ovoaoo (§§202. 203)

I

s ! 2
,1=._t_q_a=stan £ (§§205, 206)
Q2AENBHLRE =V (—a0s—0)s—0c)(s—d). (§219)
X %08 A, =1 (§ 228)
FRrZ AW\ = (§ 233)
XI. sinatsin (@ + B} 4sin (@428, 4 e B 0 I
sin {ar.+T } sin n,8
= — B . (§ 241)
sin o
cosa-tcos (a4 B)+cos (a+2B) e F i |
cos 5a+” 3 1,8}51117—1@
- (§ 242)

= - B

sin =~
2
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